ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025013

	TRAC	S No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
017	MA 221	F078001C	017-A-NFA	105053	MARICOPA	CENTRAL	1.7		Zarghami Ata

Highway Termini Location Work Description

[•] PHOENIX - CORDES JUNCTION HIGHWAY (I-17)

[•] Sonoran Desert Dr NB Off-Ramp

Roadway Widening

Printed: 7/25/2025 Page 1 of 13

BID RESULTS FOR 2025013

Bid Opening Date: 5/9/2025, Prequalification Required, Engineer Specialist: Zarghami Ata

Completion Date:

100 Working Days

The proposed project is located in Maricopa County on Interstate 17 at the Sonoran Desert Drive Traffic Interchange. The proposed work consists of widening the Sonoran Desert Drive NB Off-Ramp to provide for two-lanes. The work includes placing Portland cement concrete pavement, constructing storm drain, replacing pavement markings, installing signs, and other related work.

Bid Rank	Compared To Department Estimat Op	otion # Bid Amount	Contractor	Extended Sum of Items
	+%	\$1,538,640.10	DEPARTMENT ESTIMATE	\$1,538,640.10
1	-16.7%	\$1,281,555.88	HUNTER CONTRACTING COMPANY 701 N. COOPER RD GILBERT, AZ 85233-	\$1,281,555.88
2	-15.7%	\$1,297,639.00	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$1,297,639.00
3	-2.7%	\$1,497,799.07	PULICE CONSTRUCTION, INC. 8660 E. HARTFORD DRIVE, SUITE 305 SCOTTSDALE, AZ 85255-	\$1,497,799.07
4	+7.5%	\$1,654,253.00	W. W. CLYDE & CO. 869 N. 1500 W. Orem, UT 84057-	\$1,654,253.00
5	+12.7%	\$1,733,710.70	D B A CONSTRUCTION INC. P.O. BOX 63035 PHOENIX, AZ 85082-3035	\$1,733,710.70

Winning Bidder is 16.7% Under Department Estimate (Difference = (\$257,084.22))

Printed: 7/25/2025 Page 2 of 13

*** Bid Tabs for Proposal Pamphlet 2025013 *** Item Unit of **Compared To** Dept Estimate Number Measure **Item Description** Quantity **Unit Price Extended Amount** 2020021 L.FT. REMOVAL OF CONCRETE CURB AND GUTTER Bid Rank Department Estimate 1,437.000 \$30.000 \$43,110.00 **HUNTER CONTRACTING COMPANY** \$19.000 \$27,303.00 -36.7% 2 COMBS CONSTRUCTION COMPANY, INC. \$19.000 \$27,303.00 -36.7% 3 PULICE CONSTRUCTION, INC. \$41.310 \$59,362.47 +37.7% 4 W. W. CLYDE & CO. \$28.000 \$40,236.00 -6.7% 5 D B A CONSTRUCTION INC. \$21.000 \$30,177.00 -30.0% 2020041 I FT REMOVAL OF PIPE Bid Rank Department Estimate 137 000 \$70,000 \$9.590.00 **HUNTER CONTRACTING COMPANY** \$123.000 \$16,851.00 +75.7% 2 COMBS CONSTRUCTION COMPANY, INC. \$125.000 \$17,125.00 +78.6% 3 PULICE CONSTRUCTION, INC. \$147.580 \$20,218.46 +110.8% 4 W. W. CLYDE & CO. \$342.000 \$46,854.00 +388.6% 5 D B A CONSTRUCTION INC. \$80.000 \$10,960.00 +14.3% 2020047 **EACH** REMOVAL OF SIGNS Bid Rank 2.000 Department Estimate \$500.000 \$1,000.00 1 **HUNTER CONTRACTING COMPANY** \$1.245.000 \$2,490.00 +149.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$125.000 \$250.00 -75.0% 3 PULICE CONSTRUCTION, INC. \$946.810 \$1,893.62 +89.4% 4 W. W. CLYDE & CO. \$1,135.000 \$2,270.00 +127.0% 5 D B A CONSTRUCTION INC. \$625.000 \$1,250.00 +25.0% 2020048 EACH REMOVAL OF STRUCTURE (CATCH BASIN AND MANHOLE) Bid Rank Department Estimate 4.000 \$3,500.000 \$14,000.00 1 **HUNTER CONTRACTING COMPANY** \$8.269.000 \$33.076.00 +136.3% 2 COMBS CONSTRUCTION COMPANY, INC. \$2.500.000 \$10,000.00 -28.6% 3 PULICE CONSTRUCTION, INC. \$4,191.220 \$16,764.88 +19.7% 4 W. W. CLYDE & CO. \$12,880.000 \$51,520.00 +268.0% 5 D B A CONSTRUCTION INC. \$2,430.000 \$9,720.00 -30.6% 2020053 EACH REMOVE (PULLBOX) Bid Rank Department Estimate 4.000 \$400.000 \$1.600.00 1 **HUNTER CONTRACTING COMPANY** \$201.000 \$804.00 -49.8% 2 COMBS CONSTRUCTION COMPANY, INC. \$1,600.00 +0.0% \$400.000 3 PULICE CONSTRUCTION, INC. \$156.180 \$624.72 -61.0% \$736.00 4 W. W. CLYDE & CO. \$184.000 -54.0% 5 D B A CONSTRUCTION INC. \$718.000 \$2,872.00 +79.5% 2020054 EACH REMOVE (OVERHEAD SIGN PANEL ASSEMBLY) Bid Rank Department Estimate 2.000 \$1,000.000 \$2,000.00 1 **HUNTER CONTRACTING COMPANY** \$3,218.000 \$6,436.00 +221.8%

\$750.000

\$1,500.00

-25.0%

2

COMBS CONSTRUCTION COMPANY, INC.

Printed: 7/25/2025 Page 3 of 13

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020054	EACH	REMOVE (OVERHEAD SIGN PANE				-
Bid Rank	Department	· ·	2.000	\$1,000.000	\$2,000.00	
3	•	NSTRUCTION, INC.		\$2,445.200	\$4,890.40	+144.5%
4	W. W. CLYE	·		\$2,934.000	\$5,868.00	+193.4%
5	D B A CON	STRUCTION INC.		\$3,375.000	\$6,750.00	+237.5%
2020057	EACH	REMOVE AND SALVAGE (LIGHT PO	OLE ASSEMBLY)			
Bid Rank	Department	· ·	1.000	\$3,000.000	\$3,000.00	
1	HUNTER C	ONTRACTING COMPANY		\$7,943.000	\$7,943.00	+164.8%
2		INSTRUCTION COMPANY, INC.		\$2,500.000	\$2,500.00	-16.7%
3		NSTRUCTION, INC.		\$1,857.080	\$1,857.08	-38.1%
4	W. W. CLYE	DE & CO.		\$4,867.000	\$4,867.00	+62.2%
5	D B A CON	STRUCTION INC.		\$2,000.000	\$2,000.00	-33.3%
2020060	EACH	REMOVE AND SALVAGE (LUMINAI	RE)			
Bid Rank	Department	Estimate	1.000	\$500.000	\$500.00	
1	HUNTER C	ONTRACTING COMPANY		\$383.000	\$383.00	-23.4%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$550.000	\$550.00	+10.0%
3	PULICE CO	NSTRUCTION, INC.		\$290.400	\$290.40	-41.9%
4	W. W. CLYE	DE & CO.		\$349.000	\$349.00	-30.2%
5	D B A CON	STRUCTION INC.		\$350.000	\$350.00	-30.0%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department	Estimate	687.000	\$140.000	\$96,180.00	
1	HUNTER C	ONTRACTING COMPANY		\$49.000	\$33,663.00	-65.0%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$120.000	\$82,440.00	-14.3%
3	PULICE CC	NSTRUCTION, INC.		\$78.750	\$54,101.25	-43.8%
4	W. W. CLYE	DE & CO.		\$153.000	\$105,111.00	+9.3%
5	D B A CON	STRUCTION INC.		\$116.000	\$79,692.00	-17.1%
030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department	Estimate	535.000	\$175.000	\$93,625.00	
1	HUNTER C	ONTRACTING COMPANY		\$107.000	\$57,245.00	-38.9%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$125.000	\$66,875.00	-28.6%
3	PULICE CO	NSTRUCTION, INC.		\$241.150	\$129,015.25	+37.8%
4	W. W. CLYE	DE & CO.		\$121.000	\$64,735.00	-30.9%
5	D B A CON	STRUCTION INC.		\$175.000	\$93,625.00	+0.0%
010012	SQ.YD.	PORTLAND CEMENT CONCRETE	PAVEMENT (12")			
Bid Rank	Department	Estimate	1,410.000	\$225.000	\$317,250.00	
1	HUNTER C	ONTRACTING COMPANY		\$166.000	\$234,060.00	-26.2%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$135.000	\$190,350.00	-40.0%
3	PULICE CO	NSTRUCTION, INC.		\$146.420	\$206,452.20	-34.9%
4	W. W. CLYE	NE 8 CO		\$225.000	\$317,250.00	+0.0%

Printed: 7/25/2025 Page 4 of 13

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4010012	SQ.YD. PORTLAND CEMENT CO	NCRETE PAVEMENT (12")			
Bid Rank	Department Estimate	1,410.000	\$225.000	\$317,250.00	
5	D B A CONSTRUCTION INC.		\$236.000	\$332,760.00	+4.9%
5011022	L.FT. PIPE, REINFORCED CON	CRETE, CLASS II, 24"			
Bid Rank	Department Estimate	185.000	\$350.000	\$64,750.00	
1	HUNTER CONTRACTING COMPANY		\$253.000	\$46,805.00	-27.7%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$165.000	\$30,525.00	-52.9%
3	PULICE CONSTRUCTION, INC.		\$271.980	\$50,316.30	-22.3%
4	W. W. CLYDE & CO.		\$435.000	\$80,475.00	+24.3%
5	D B A CONSTRUCTION INC.		\$285.000	\$52,725.00	-18.6%
5011023	L.FT. PIPE, REINFORCED CON	CRETE, CLASS III, 24"			
Bid Rank	Department Estimate	125.000	\$400.000	\$50,000.00	
1	HUNTER CONTRACTING COMPANY		\$262.000	\$32,750.00	-34.5%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$175.000	\$21,875.00	-56.3%
3	PULICE CONSTRUCTION, INC.		\$302.040	\$37,755.00	-24.5%
4	W. W. CLYDE & CO.		\$416.000	\$52,000.00	+4.0%
5	D B A CONSTRUCTION INC.		\$389.000	\$48,625.00	-2.8%
5030604	EACH CONCRETE CATCH BASI	N (C-15.91 FREEWAY CATCH BA	SIN)		
Bid Rank	Department Estimate	1.000	\$8,000.000	\$8,000.00	
1	HUNTER CONTRACTING COMPANY		\$15,989.000	\$15,989.00	+99.9%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$12,500.000	\$12,500.00	+56.3%
3	PULICE CONSTRUCTION, INC.		\$11,591.490	\$11,591.49	+44.9%
4	W. W. CLYDE & CO.		\$20,840.000	\$20,840.00	+160.5%
5	D B A CONSTRUCTION INC.		\$14,770.000	\$14,770.00	+84.6%
5030611	EACH CONCRETE CATCH BASI	N (C-15.80)			
Bid Rank	Department Estimate	2.000	\$8,000.000	\$16,000.00	
1	HUNTER CONTRACTING COMPANY		\$15,493.000	\$30,986.00	+93.7%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$11,000.000	\$22,000.00	+37.5%
3	PULICE CONSTRUCTION, INC.		\$11,225.450	\$22,450.90	+40.3%
4	W. W. CLYDE & CO.		\$20,990.000	\$41,980.00	+162.4%
5	D B A CONSTRUCTION INC.		\$13,400.000	\$26,800.00	+67.5%
5050001	EACH MANHOLE (C-18.10) (NO.	1) (FOR PIPES 6" TO 36")			
Bid Rank	Department Estimate	1.000	\$15,000.000	\$15,000.00	
1	HUNTER CONTRACTING COMPANY		\$21,131.000	\$21,131.00	+40.9%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$22,000.000	\$22,000.00	+46.7%
3	PULICE CONSTRUCTION, INC.		\$24,214.890	\$24,214.89	+61.4%
4	W. W. CLYDE & CO.		\$27,790.000	\$27,790.00	+85.3%
5	D B A CONSTRUCTION INC.		\$27,095.000	\$27,095.00	+80.6%

Printed: 7/25/2025 *** Bid Tabs for Proposal Pamphlet 2025013 *** *** Bid Tabs for Proposal Pamphlet 2025013 ***

Item Unit of **Compared To** Dept Estimate Number Measure **Item Description** Quantity **Unit Price Extended Amount** 6070002 L.FT. **BREAKAWAY SIGN POST S4X7.7** Bid Rank Department Estimate 26.000 \$40.000 \$1,040.00 **HUNTER CONTRACTING COMPANY** \$109.000 \$2,834.00 +172.5% 2 COMBS CONSTRUCTION COMPANY, INC. \$55.000 \$1,430.00 +37.5% 3 PULICE CONSTRUCTION, INC. \$82.970 \$2,157.22 +107.4% 4 W. W. CLYDE & CO. \$100.000 \$2,600.00 +150.0% 5 D B A CONSTRUCTION INC. \$130.000 \$3,380.00 +225.0% 6070022 EACH FOUNDATION FOR BREAKAWAY SIGN POST \$4X7.7 Bid Rank Department Estimate 2.000 \$1,500.000 \$3,000.00 **HUNTER CONTRACTING COMPANY** \$2,522.000 \$5,044.00 +68.1% 2 COMBS CONSTRUCTION COMPANY, INC. \$1,200.000 \$2,400.00 -20.0% 3 PULICE CONSTRUCTION, INC. \$1,915.650 \$3,831.30 +27.7% W. W. CLYDE & CO. \$2,299.000 \$4,598.00 +53.3% 5 D B A CONSTRUCTION INC. \$3,125.000 \$6,250.00 +108.3% 6070038 **EACH** SLIP BASE Bid Rank 5.000 Department Estimate \$350.000 \$1,750.00 1 **HUNTER CONTRACTING COMPANY** \$494.000 \$2,470.00 +41.1% 2 COMBS CONSTRUCTION COMPANY, INC. \$350.000 \$1,750.00 +0.0% 3 PULICE CONSTRUCTION, INC. \$374.590 \$1,872.95 +7.0% +28.9% 4 W. W. CLYDE & CO. \$451.000 \$2,255.00 5 D B A CONSTRUCTION INC. \$388.000 \$1.940.00 +10.9% 6070057 L.FT. SIGN POST (PERFORATED) (2 1/2 T) Bid Rank Department Estimate 65.000 \$20.000 \$1,300.00 1 **HUNTER CONTRACTING COMPANY** \$40.000 \$2.600.00 +100.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$30.000 \$1.950.00 +50.0% 3 PULICE CONSTRUCTION, INC. \$30.500 \$1,982.50 +52.5% 4 W. W. CLYDE & CO. \$37.000 \$2,405.00 +85.0% \$1,820.00 5 D B A CONSTRUCTION INC. \$28.000 +40.0% 6070060 FACH FOUNDATION FOR SIGN POST (CONCRETE) Bid Rank Department Estimate 5.000 \$500.000 \$2.500.00 1 **HUNTER CONTRACTING COMPANY** \$558.000 \$2,790.00 +11.6% 2 COMBS CONSTRUCTION COMPANY, INC. -10.0% \$450.000 \$2,250.00 3 PULICE CONSTRUCTION, INC. \$423.400 \$2,117.00 -15.3% 4 W. W. CLYDE & CO. \$509.000 \$2,545.00 +1.8% 5 D B A CONSTRUCTION INC. \$680.000 \$3,400.00 +36.0% 6080005 SQ.FT. REGULATORY, WARNING, OR MARKER SIGN PANEL Bid Rank Department Estimate 16.000 \$28.000 \$448.00 1 **HUNTER CONTRACTING COMPANY** \$44.000 \$704.00 +57.1% 2 COMBS CONSTRUCTION COMPANY, INC. \$40.000 \$640.00 +42.9%

Printed: 7/25/2025 Page 6 of 13

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6080005	SQ.FT. REGULATORY, WARNING, O	R MARKER SIGN PANEL			
Bid Rank	Department Estimate	16.000	\$28.000	\$448.00	
3	PULICE CONSTRUCTION, INC.		\$32.940	\$527.04	+17.6%
4	W. W. CLYDE & CO.		\$40.000	\$640.00	+42.9%
5	D B A CONSTRUCTION INC.		\$50.000	\$800.00	+78.6%
6080018	SQ.FT. EXTRUDED ALUMINUM SIGN	N PANEL			
Bid Rank	Department Estimate	408.000	\$35.000	\$14,280.00	
1	HUNTER CONTRACTING COMPANY		\$90.000	\$36,720.00	+157.1%
2	COMBS CONSTRUCTION COMPANY, INC.		\$65.000	\$26,520.00	+85.7%
3	PULICE CONSTRUCTION, INC.		\$68.330	\$27,878.64	+95.2%
4	W. W. CLYDE & CO.		\$82.000	\$33,456.00	+134.3%
5	D B A CONSTRUCTION INC.		\$81.000	\$33,048.00	+131.4%
6080025	SQ.FT. FLAT SHEET ALUMINUM SIG	N PANEL			
Bid Rank	Department Estimate	45.000	\$30.000	\$1,350.00	
1	HUNTER CONTRACTING COMPANY		\$41.000	\$1,845.00	+36.7%
2	COMBS CONSTRUCTION COMPANY, INC.		\$115.000	\$5,175.00	+283.3%
3	PULICE CONSTRUCTION, INC.		\$30.500	\$1,372.50	+1.7%
4	W. W. CLYDE & CO.		\$37.000	\$1,665.00	+23.3%
5	D B A CONSTRUCTION INC.		\$81.000	\$3,645.00	+170.0%
7010005	L.SUM MAINTENANCE AND PROTE	CTION OF TRAFFIC			
Bid Rank	Department Estimate	1.000	\$80,000.000	\$80,000.00	
1	HUNTER CONTRACTING COMPANY		\$20,691.000	\$20,691.00	-74.1%
2	COMBS CONSTRUCTION COMPANY, INC.		\$105,230.000	\$105,230.00	+31.5%
3	PULICE CONSTRUCTION, INC.		\$75,803.760	\$75,803.76	-5.2%
4	W. W. CLYDE & CO.		\$70,500.000	\$70,500.00	-11.9%
5	D B A CONSTRUCTION INC.		\$179,400.000	\$179,400.00	+124.3%
7010025	EACH TEMPORARY IMPACT ATTEN	IUATION DEVICE (IN-LINE EN	IERGY ABSORBING	TERM.)	
Bid Rank	Department Estimate	2.000	\$3,000.000	\$6,000.00	
1	HUNTER CONTRACTING COMPANY		\$4,727.000	\$9,454.00	+57.6%
2	COMBS CONSTRUCTION COMPANY, INC.		\$3,100.000	\$6,200.00	+3.3%
3	PULICE CONSTRUCTION, INC.		\$3,660.470	\$7,320.94	+22.0%
4	W. W. CLYDE & CO.		\$4,734.000	\$9,468.00	+57.8%
5	D B A CONSTRUCTION INC.		\$4,800.000	\$9,600.00	+60.0%
7010026	EACH-DAY TEMPORARY IMPACT ATTEN	IUTION DEVICE (IN-LINE EN	RGY ABSORBING T	ERM.) (IN USE)	
Bid Rank	Department Estimate	128.000	\$40.000	\$5,120.00	
1	HUNTER CONTRACTING COMPANY		\$48.000	\$6,144.00	+20.0%
2	COMBS CONSTRUCTION COMPANY, INC.		\$35.000	\$4,480.00	-12.5%
3	PULICE CONSTRUCTION, INC.		\$36.610	\$4,686.08	-8.5%
4	W. W. CLYDE & CO.		\$43.000	\$5,504.00	+7.5%

Printed: 7/25/2025 Page 7 of 13

Item Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7010026	EACH-DAY TEMPORARY IMPACT ATTENUTION	ON DEVICE (IN-LINE ENE	RGY ABSORBING T	ERM.) (IN USE)	
Bid Rank	Department Estimate	128.000	\$40.000	\$5,120.00	
5	D B A CONSTRUCTION INC.		\$48.000	\$6,144.00	+20.0%
7015010	L.FT. TEMPORARY CONCRETE BARRI	ER (INSTALLATION AND	REMOVAL)		
Bid Rank	Department Estimate	2,580.000	\$15.000	\$38,700.00	
1	HUNTER CONTRACTING COMPANY		\$32.000	\$82,560.00	+113.3%
2	COMBS CONSTRUCTION COMPANY, INC.		\$25.000	\$64,500.00	+66.7%
3	PULICE CONSTRUCTION, INC.		\$41.530	\$107,147.40	+176.9%
4	W. W. CLYDE & CO.		\$29.000	\$74,820.00	+93.3%
5	D B A CONSTRUCTION INC.		\$44.000	\$113,520.00	+193.3%
7015091	SQ.FT. SPECIALTY SIGNS				
Bid Rank	Department Estimate	194.000	\$40.000	\$7,760.00	
1	HUNTER CONTRACTING COMPANY		\$31.000	\$6,014.00	-22.5%
2	COMBS CONSTRUCTION COMPANY, INC.		\$26.000	\$5,044.00	-35.0%
3	PULICE CONSTRUCTION, INC.		\$19.520	\$3,786.88	-51.2%
4	W. W. CLYDE & CO.		\$26.000	\$5,044.00	-35.0%
5	D B A CONSTRUCTION INC.		\$20.000	\$3,880.00	-50.0%
7016020	L.FTDAY TEMPORARY CONCRETE BARRI	ER (IN USE)			
Bid Rank	Department Estimate	165,120.000	\$0.100	\$16,512.00	
1	HUNTER CONTRACTING COMPANY		\$0.100	\$16,512.00	+0.0%
2	COMBS CONSTRUCTION COMPANY, INC.		\$0.080	\$13,209.60	-20.0%
3	PULICE CONSTRUCTION, INC.		\$0.150	\$24,768.00	+50.0%
4	W. W. CLYDE & CO.		\$0.100	\$16,512.00	+0.0%
5	D B A CONSTRUCTION INC.		\$0.100	\$16,512.00	+0.0%
7016050	EACH-DAY TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate	38.000	\$1,000.000	\$38,000.00	
1	HUNTER CONTRACTING COMPANY		\$594.000	\$22,572.00	-40.6%
2	COMBS CONSTRUCTION COMPANY, INC.		\$870.000	\$33,060.00	-13.0%
3	PULICE CONSTRUCTION, INC.		\$305.030	\$11,591.14	-69.5%
4	W. W. CLYDE & CO.		\$467.000	\$17,746.00	-53.3%
5	D B A CONSTRUCTION INC.		\$1,410.000	\$53,580.00	+41.0%
7016067	EACH-DAY CHANGEABLE MESSAGE BOARD	(CONTRACTOR FURNI	SHED)		
Bid Rank	Department Estimate	104.000	\$75.000	\$7,800.00	
1	HUNTER CONTRACTING COMPANY		\$102.000	\$10,608.00	+36.0%
2	COMBS CONSTRUCTION COMPANY, INC.		\$25.000	\$2,600.00	-66.7%
3	PULICE CONSTRUCTION, INC.		\$61.010	\$6,345.04	-18.7%
4	W. W. CLYDE & CO.		\$57.000	\$5,928.00	-24.0%
5	D B A CONSTRUCTION INC.		\$80.000	\$8,320.00	+6.7%

Printed: 7/25/2025 Page 8 of 13 *** Bid Tabs for Proposal Pamphlet 2025013 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
7016079	HOUR	FLAGGING SERVICES (UNIFORM	IED OFFICER)				
Bid Rank	Department	Estimate	936.000	\$110.000	\$102,960.00		
1	HUNTER C	ONTRACTING COMPANY		\$85.000	\$79,560.00	-22.7%	
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$85.000	\$79,560.00	-22.7%	
3	PULICE CO	NSTRUCTION, INC.		\$101.280	\$94,798.08	-7.9%	
4	W. W. CLYD	DE & CO.		\$128.000	\$119,808.00	+16.4%	
 5	D B A CONS	STRUCTION INC.		\$115.000	\$107,640.00	+4.5%	
7040005	L.FT.	PAVEMENT MARKING (WHITE EX	TRUDED THERMOPLAST	TIC) (0.090")			
Bid Rank	Department	Estimate	3,447.000	\$0.800	\$2,757.60		
1	HUNTER C	ONTRACTING COMPANY		\$0.600	\$2,068.20	-25.0%	
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$0.670	\$2,309.49	-16.2%	
3	PULICE CO	NSTRUCTION, INC.		\$1.210	\$4,170.87	+51.3%	
4	W. W. CLYD	DE & CO.		\$0.900	\$3,102.30	+12.5%	
 5	D B A CONS	STRUCTION INC.		\$0.500	\$1,723.50	-37.5%	
7040006	L.FT.	PAVEMENT MARKING (YELLOW E	EXTRUDED THERMOPLA	STIC) (0.090")			
Bid Rank	Department	Estimate	2,160.000	\$0.800	\$1,728.00		
1	HUNTER C	ONTRACTING COMPANY		\$0.600	\$1,296.00	-25.0%	
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$0.670	\$1,447.20	-16.3%	
3	PULICE CO	NSTRUCTION, INC.		\$1.210	\$2,613.60	+51.3%	
4	W. W. CLYD	DE & CO.		\$0.900	\$1,944.00	+12.5%	
 5	D B A CONS	STRUCTION INC.		\$0.500	\$1,080.00	-37.5%	
7040074	EACH	PAVEMENT SYMBOL (EXTRUDED	THERMOPLASTIC) (ALK	YD) (0.090")			
Bid Rank	Department	Estimate	9.000	\$275.000	\$2,475.00		
1	HUNTER C	ONTRACTING COMPANY		\$204.000	\$1,836.00	-25.8%	
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$155.000	\$1,395.00	-43.6%	
3	PULICE CO	NSTRUCTION, INC.		\$189.120	\$1,702.08	-31.2%	
4	W. W. CLYD	DE & CO.		\$395.000	\$3,555.00	+43.6%	
 5	D B A CONS	STRUCTION INC.		\$160.000	\$1,440.00	-41.8%	
7042031	L.FT.	PRIMER-SEALER FOR PCCP THE	RMOPLASTIC STRIPING				
Bid Rank	Department	Estimate	5,547.000	\$0.500	\$2,773.50		
1	HUNTER C	ONTRACTING COMPANY		\$0.450	\$2,496.15	-10.0%	
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$0.210	\$1,164.87	-58.0%	
3	PULICE CO	NSTRUCTION, INC.		\$0.290	\$1,608.63	-42.0%	
4	W. W. CLYD	DE & CO.		\$0.300	\$1,664.10	-40.0%	
5	D B A CONS	STRUCTION INC.		\$0.300	\$1,664.10	-40.0%	
 7042036	EACH	PRIMER-SEALER FOR PCCP THE	ERMOPLASTIC SYMBOL/L	EGEND			
Bid Rank	Department	Estimate	9.000	\$50.000	\$450.00		
1	HUNTER C	ONTRACTING COMPANY		\$204.000	\$1,836.00	+308.0%	
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$30.000	\$270.00	-40.0%	

Printed: 7/25/2025 Page 9 of 13

ltem Number	Unit of Measure Ite	em Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
7042036	EACH P	RIMER-SEALER FOR PCCP THE	RMOPLASTIC SYMBOL/L	EGEND			
Bid Rank	Department Estimate		9.000	\$50.000	\$450.00		
3	PULICE CONST	RUCTION, INC.		\$73.210	\$658.89	+46.4%	
4	W. W. CLYDE &	CO.		\$57.000	\$513.00	+14.0%	
5	D B A CONSTRU	JCTION INC.		\$44.000	\$396.00	-12.0%	
7042051	L.FT. R	EMOVAL OF CURING COMPOUN	ND FOR STRIPING				
Bid Rank	Department Estir	nate	1,658.000	\$1.000	\$1,658.00		
1	HUNTER CONTI	RACTING COMPANY		\$0.450	\$746.10	-55.0%	
2	COMBS CONST	RUCTION COMPANY, INC.		\$0.420	\$696.36	-58.0%	
3	PULICE CONST	RUCTION, INC.		\$0.810	\$1,342.98	-19.0%	
4	W. W. CLYDE &	CO.		\$0.450	\$746.10	-55.0%	
5	D B A CONSTRU	JCTION INC.		\$0.650	\$1,077.70	-35.0%	
7050022	L.FT. P.	AVEMENT MARKING, PREFORM	ED, WHITE STRIPE, TYP	ΞI			
Bid Rank	Department Estir	nate	3,518.000	\$4.000	\$14,072.00		
1	HUNTER CONTI	RACTING COMPANY		\$4.000	\$14,072.00	+0.0%	
2	COMBS CONST	RUCTION COMPANY, INC.		\$3.500	\$12,313.00	-12.5%	
3	PULICE CONST	RUCTION, INC.		\$3.960	\$13,931.28	-1.0%	
4	W. W. CLYDE &	CO.		\$6.450	\$22,691.10	+61.3%	
5	D B A CONSTRU	JCTION INC.		\$3.100	\$10,905.80	-22.5%	
7050057	EACH PA	AVEMENT MARKING, PREFORM	ED, LEGEND, TYPE I/IV				
Bid Rank	Department Estir	nate	2.000	\$250.000	\$500.00		
1	HUNTER CONTI	RACTING COMPANY		\$895.000	\$1,790.00	+258.0%	
2	COMBS CONST	RUCTION COMPANY, INC.		\$2.500	\$5.00	-99.0%	
3	PULICE CONST	RUCTION, INC.		\$292.840	\$585.68	+17.1%	
4	W. W. CLYDE &	CO.		\$647.000	\$1,294.00	+158.8%	
5	D B A CONSTRU	JCTION INC.		\$250.000	\$500.00	+0.0%	
7050070	L.FT. P	RIMER-SEALER FOR PCCP (STF	RIPING)				
Bid Rank	Department Estir	nate	3,044.000	\$0.500	\$1,522.00		
1	HUNTER CONTI	RACTING COMPANY		\$0.450	\$1,369.80	-10.0%	
2	COMBS CONST	RUCTION COMPANY, INC.		\$0.220	\$669.68	-56.0%	
3	PULICE CONST	RUCTION, INC.		\$0.290	\$882.76	-42.0%	
4	W. W. CLYDE &	CO.		\$0.300	\$913.20	-40.0%	
5	D B A CONSTRU	JCTION INC.		\$0.300	\$913.20	-40.0%	
7050071	EACH P	RIMER-SEALER FOR PCCP (SYM	MBOL/LEGEND)				
Bid Rank	Department Estir	nate	2.000	\$75.000	\$150.00		
1	HUNTER CONTI	RACTING COMPANY		\$74.000	\$148.00	-1.3%	
2	COMBS CONST	RUCTION COMPANY, INC.		\$30.000	\$60.00	-60.0%	
3	PULICE CONST	RUCTION, INC.		\$79.320	\$158.64	+5.8%	
4	W. W. CLYDE &	CO.		\$57.000	\$114.00	-24.0%	

Printed: 7/25/2025 Page 10 of 13

ltem Number	Unit of Measure Item De	escription	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7050071	EACH PRIME	ER-SEALER FOR PCCP (SYN	MBOL/LEGEND)			
Bid Rank	Department Estimate		2.000	\$75.000	\$150.00	
5	D B A CONSTRUCTION	ON INC.		\$44.000	\$88.00	-41.3%
7050074	L.FT. REMO	VAL OF CURING COMPOUN	ID (PCCP) (STRIPING)			
Bid Rank	Department Estimate		1,216.000	\$1.000	\$1,216.00	
1	HUNTER CONTRACT	TING COMPANY		\$0.450	\$547.20	-55.0%
2	COMBS CONSTRUC	TION COMPANY, INC.		\$0.420	\$510.72	-58.0%
3	PULICE CONSTRUCT	TION, INC.		\$0.810	\$984.96	-19.0%
4	W. W. CLYDE & CO.			\$0.450	\$547.20	-55.0%
5	D B A CONSTRUCTION	ON INC.		\$0.650	\$790.40	-35.0%
7060013	EACH PAVE	MENT MARKER, RAISED, TY	PE C			
Bid Rank	Department Estimate		137.000	\$4.000	\$548.00	
1	HUNTER CONTRACT	TING COMPANY		\$3.720	\$509.64	-7.0%
2	COMBS CONSTRUC	TION COMPANY, INC.		\$4.000	\$548.00	+0.0%
3	PULICE CONSTRUCT	TION, INC.		\$3.350	\$458.95	-16.3%
4	W. W. CLYDE & CO.			\$5.750	\$787.75	+43.8%
5	D B A CONSTRUCTION	ON INC.		\$4.000	\$548.00	+0.0%
7320050	L.FT. ELEC	TRICAL CONDUIT (2") (PVC)				
Bid Rank	Department Estimate	, , , ,	751.000	\$40.000	\$30,040.00	
1	HUNTER CONTRACT	TING COMPANY		\$18.000	\$13,518.00	-55.0%
2		TION COMPANY, INC.		\$27.000	\$20,277.00	-32.5%
3	PULICE CONSTRUCT			\$45.140	\$33,900.14	+12.9%
4	W. W. CLYDE & CO.			\$55.000	\$41,305.00	+37.5%
5	D B A CONSTRUCTION	ON INC.		\$40.000	\$30,040.00	+0.0%
7320456	EACH PULL	BOX (4B)				
Bid Rank	Department Estimate		3.000	\$3,500.000	\$10,500.00	
1	HUNTER CONTRACT	TING COMPANY		\$746.000	\$2,238.00	-78.7%
2	COMBS CONSTRUC	TION COMPANY, INC.		\$2,800.000	\$8,400.00	-20.0%
3	PULICE CONSTRUC	TION, INC.		\$3,062.590	\$9,187.77	-12.5%
4	W. W. CLYDE & CO.			\$3,678.000	\$11,034.00	+5.1%
5	D B A CONSTRUCTION	ON INC.		\$3,625.000	\$10,875.00	+3.6%
7320540	L.FT. COND	UCTOR (NO. 4)				
Bid Rank	Department Estimate		3,755.000	\$3.000	\$11,265.00	
1	HUNTER CONTRACT	TING COMPANY		\$3.730	\$14,006.15	+24.3%
2	COMBS CONSTRUC	TION COMPANY, INC.		\$3.200	\$12,016.00	+6.7%
3	PULICE CONSTRUCT	TION, INC.		\$2.810	\$10,551.55	-6.3%
4	W. W. CLYDE & CO.			\$3.450	\$12,954.75	+15.0%
5	D B A CONSTRUCTION	ON INC.		\$5.000	\$18,775.00	+66.7%

Printed: 7/25/2025 Page 11 of 13

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7360111	EACH	LUMINAIRE (LED, HORIZONTAL I	MOUNT, 40L)(DEPARTMEN	IT FURNISHED)		
Bid Rank	Department l	Estimate	1.000	\$500.000	\$500.00	
1	HUNTER CO	NTRACTING COMPANY		\$1,492.000	\$1,492.00	+198.4%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$700.000	\$700.00	+40.0%
3	PULICE CON	NSTRUCTION, INC.		\$329.440	\$329.44	-34.1%
4	W. W. CLYDI	E & CO.		\$395.000	\$395.00	-21.0%
5	D B A CONS	TRUCTION INC.		\$380.000	\$380.00	-24.0%
8030093	SQ.YD.	GRANITE MULCH (BROWN)				
Bid Rank	Department l	Estimate	4,858.000	\$10.000	\$48,580.00	
1	HUNTER CO	NTRACTING COMPANY		\$23.000	\$111,734.00	+130.0%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$13.000	\$63,154.00	+30.0%
3	PULICE CON	NSTRUCTION, INC.		\$17.720	\$86,083.76	+77.2%
4	W. W. CLYDI	E & CO.		\$2.500	\$12,145.00	-75.0%
5	D B A CONS	TRUCTION INC.		\$8.000	\$38,864.00	-20.0%
8101017	EACH	EROSION CONTROL (GRAVEL BA	AG)			
Bid Rank	Department l	Estimate	168.000	\$15.000	\$2,520.00	
1	HUNTER CO	NTRACTING COMPANY		\$8.880	\$1,491.84	-40.8%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$17.000	\$2,856.00	+13.3%
3	PULICE CON	NSTRUCTION, INC.		\$49.360	\$8,292.48	+229.1%
4	W. W. CLYDI	E & CO.		\$134.000	\$22,512.00	+793.3%
5	D B A CONS	TRUCTION INC.		\$30.000	\$5,040.00	+100.0%
8101018	SQ.YD.	EROSION CONTROL (STABILIZE	D CONSTRUCTION ENTRA	ANCE AND EXIT)		
Bid Rank	Department l	Estimate	196.000	\$35.000	\$6,860.00	
1	HUNTER CO	NTRACTING COMPANY		\$29.000	\$5,684.00	-17.1%
2	COMBS COI	NSTRUCTION COMPANY, INC.		\$31.000	\$6,076.00	-11.4%
3	PULICE CON	NSTRUCTION, INC.		\$140.230	\$27,485.08	+300.7%
4	W. W. CLYDI	E & CO.		\$33.000	\$6,468.00	-5.7%
5	D B A CONS	TRUCTION INC.		\$43.000	\$8,428.00	+22.9%
8101029	CU.YD.	EROSION CONTROL (ROCK MUL	.CH) (GRADATION C)			
Bid Rank	Department l	Estimate	4.000	\$250.000	\$1,000.00	
1	HUNTER CO	NTRACTING COMPANY		\$809.000	\$3,236.00	+223.6%
2	COMBS COI	NSTRUCTION COMPANY, INC.		\$230.000	\$920.00	-8.0%
3	PULICE CON	NSTRUCTION, INC.		\$363.220	\$1,452.88	+45.3%
4	W. W. CLYDI	E & CO.		\$480.000	\$1,920.00	+92.0%
5	D B A CONS	TRUCTION INC.		\$370.000	\$1,480.00	+48.0%
8101035	L.FT.	EROSION CONTROL (SEDIMENT	LOGS) (20")			
Bid Rank	Department l	Estimate	80.000	\$20.000	\$1,600.00	
1	HUNTER CO	NTRACTING COMPANY		\$5.060	\$404.80	-74.7%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$11.000	\$880.00	-45.0%

Printed: 7/25/2025 Page 12 of 13

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8101035	L.FT. EROSION CONTROL (SEDIM	ENT LOGS) (20")			
Bid Rank	Department Estimate	80.000	\$20.000	\$1,600.00	
3	PULICE CONSTRUCTION, INC.		\$13.380	\$1,070.40	-33.1%
4	W. W. CLYDE & CO.		\$19.000	\$1,520.00	-5.0%
5	D B A CONSTRUCTION INC.		\$31.000	\$2,480.00	+55.0%
9010001	L.SUM MOBILIZATION				
Bid Rank	Department Estimate	1.000	\$160,000.000	\$160,000.00	
1	HUNTER CONTRACTING COMPANY		\$100,000.000	\$100,000.00	-37.5%
2	COMBS CONSTRUCTION COMPANY, INC.		\$154,000.000	\$154,000.00	-3.8%
3	PULICE CONSTRUCTION, INC.		\$149,000.000	\$149,000.00	-6.9%
4	W. W. CLYDE & CO.		\$146,150.500	\$146,150.50	-8.7%
5	D B A CONSTRUCTION INC.		\$172,100.000	\$172,100.00	+7.6%
9080084	L.FT. CONCRETE CURB AND GUT	TER (C-05.10) (TYPE C-1)			
Bid Rank	Department Estimate	1,171.000	\$100.000	\$117,100.00	
1	HUNTER CONTRACTING COMPANY		\$45.000	\$52,695.00	-55.0%
2	COMBS CONSTRUCTION COMPANY, INC.		\$46.000	\$53,866.00	-54.0%
3	PULICE CONSTRUCTION, INC.		\$48.650	\$56,969.15	-51.4%
4	W. W. CLYDE & CO.		\$57.000	\$66,747.00	-43.0%
5	D B A CONSTRUCTION INC.		\$68.000	\$79,628.00	-32.0%
9240115	L.FT. MISCELLANEOUS WORK (SL	URRY FILL CONCRETE PIPE	≣)		
Bid Rank	Department Estimate	27.000	\$100.000	\$2,700.00	
1	HUNTER CONTRACTING COMPANY		\$67.000	\$1,809.00	-33.0%
2	COMBS CONSTRUCTION COMPANY, INC.		\$165.000	\$4,455.00	+65.0%
3	PULICE CONSTRUCTION, INC.		\$132.650	\$3,581.55	+32.7%
4	W. W. CLYDE & CO.		\$177.000	\$4,779.00	+77.0%
5	D B A CONSTRUCTION INC.		\$72.000	\$1,944.00	-28.0%
9240127	EACH MISCELLANEOUS WORK (ST	ORM DRAIN PLUG, C-13.76)	l		
Bid Rank	Department Estimate	2.000	\$1,000.000	\$2,000.00	
1	HUNTER CONTRACTING COMPANY		\$15,862.000	\$31,724.00	+1486.2%
2	COMBS CONSTRUCTION COMPANY, INC.		\$575.000	\$1,150.00	-42.5%
3	PULICE CONSTRUCTION, INC.		\$2,409.560	\$4,819.12	+141.0%
4	W. W. CLYDE & CO.		\$4,238.000	\$8,476.00	+323.8%
5	D B A CONSTRUCTION INC.		\$1,200.000	\$2,400.00	+20.0%
9250001	L.SUM CONSTRUCTION SURVEYING	G AND LAYOUT			
Bid Rank	Department Estimate	1.000	\$50,000.000	\$50,000.00	
1	HUNTER CONTRACTING COMPANY		\$35,771.000	\$35,771.00	-28.5%
2	COMBS CONSTRUCTION COMPANY, INC.		\$82,108.080	\$82,108.08	+64.2%
3	PULICE CONSTRUCTION, INC.		\$56,190.650	\$56,190.65	+12.4%
4	W. W. CLYDE & CO.		\$41,600.000	\$41,600.00	-16.8%

Printed: 7/25/2025 Page 13 of 13

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9250001	L.SUM	CONSTRUCTION SURVEYING	NG AND LAYOUT			
Bid Rank	Department Estimate		1.000	\$50,000.000	\$50,000.00	
5	D B A CONSTRUCTION INC.			\$47,100.000	\$47,100.00	-5.8%